
Two  more derivatives :

Kettner
!

ksk.nu like cos G)
.

But kinda  isn't  exact
.

let's show dq.sn/x)=cosk)exaet4.
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' for the moment
, we 'll also need

3) sin ( A + B) =  sihA)cos( B) +  sin (B) cos (A) a trig identity.

4) costttb ) =  costhcos (B) - siutt )siw( B)

With this :

¥5 .h(x)= Lingo suh(×th)-sm(h

= him sink)siosl6)+sih(h)cos(x)-sih#
.
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t.co#hD+cosk)hysosonnI=s.h(xla0
+ cos G) °1

=  cos ( x ) .
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- sin ( x ) . 1

= - sink )

So it boils down to two limits :

Hugo say =L
a)

b) day Kosky = 0
.

In fact
,

it I an seta ) I 'll also get b)
.

:



siilx ) +  coszlx) = l

sin
' ( × ) = I - coszlx )

= ¢- cos(D) ( I + cos G)

1- coslx )= siilxl
+ cost )

¥54)
= sind side ( xto )

I +  cost )

Lingo tea = 1 . sings = o

So row it boils down to lay .sn#=o .
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As G  → 0
,

costs 1
, fool ,

so  
sought →

1
.



Other trig derivatives :

¥ tnkk ¥ Singh,
-

seek ) ( Fouad this ! )

da
,

cotk ) =

da costly,}=
- sm4-os4d_ = - cselx )

sin 21×1

da seam of ¥ ,=  
- Ish,n= SEE

,
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-

go.sn#a,...cotxcsccx)

Worksheet?


